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Timmerman (2022)

Benedict et al. 2010) [TG101]
Emami (2013)

Aristizabal et al. (1977)
Bhandare et al. (2005)

Mayo et al. (2010) [QUANTEC]
Flickinger et al. (1990)

Jang et al. (1994)

Leber et al. (1998)

Mackley et al. (2007)

Martel et al. (1997)

Noel et al. (2001)

Parsons et al. (1994)
Pigeaud-Klessens et al. (1992)
Schulz-Ertner et al. (2007)
Stafford et al. (2003)

Tishler et al. (1993)

Wenkel et al. (2000)

Hiniker et al. (2016)

Milano et al. (2021) [HyTEC]
Speckter et al. (2019)



